T/ Mathematics 41 gt 9/ Vedabhushan Third Year SET-A
9 9= &A1 / Que. Paper No. :  111/21-22/Mathematics/
YictSTH g W ST / To be filled in by Pratishthan
3l 1 {4901 / Details of Marks
e / I / i / e % ETEmR
Subject Max. Marks | Marks obtained Sign. of examiner
M /Mathematics 100

TE) foreheq & AR (v) T g T - 10x2=20
9.1, 18123 H 1 F TG AIF Hi4-61 8/ Place value of 1 in 8123 -

i) 100 (ii) 10

(iii) 1000 (iv) 99 | i &/ None
9.2. 379 &l 825 € T I H T &NT/ Subtract=

(i) 465 (i) 446

(iii) 624 (iv) 544
93. 36 &N IR Gt AT &l gl H T f&E¥ 1/ Write in number -

(i) 8429 (ii) 4845

(iii) 4398 (iv) 3948
94, 1843 H 4 F1 WJFIF | 12 / Place value of four in 1843 -

(i) 400 (i) 40

(iii) 4000 (iv) 4
9.5, HEHEERT/ Solve - 120 + 10

@H 9 (i) 8

(iii) 12 (iv) 60
96, AN oTg B A TS T RIA-H1 2/ Biggest three digit number -

i) 987 (ii) 99

(i) 100 (iv) 7 @ g F&l
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9.7, = H 4 e 9 #1 &= | 600 2/ Place value of -
(i) 650 (i) 456
(i) 165 (iv) T8 @ F18 F&
9.8 & H IS (=, < W@ >) 98 W / Put the right tick-
: ;
i = (i) <
(i) > (iv) ST it
9.9. 84 ¥4 H WNI g W WRTRS 8 &1/ Find the quotient after dividing 84 by 4 -
G 23 (i) 24
(iii) 21 (iv) 22
9.10. RE @1 H 0 & 90T 3 WAIRTERS ......... uTH &9/ What comes when divided by
zero?
i 0 (ii) YUITeR&@AT / Full mark digit
(iii) STAd (o0) (iv) TH 9 F13 7121/ none of the above
Rk Tl 31 9fd SR/ Fill in the blanks - 10x2 =20
911, 7884 -3422 = ...,
N12. 2 -2 =
813, =2 =
914, 45x3 =i
9.15. 69H 9 TN S WATES ....oovvoe 919 &R | / What comes when 69 is
divided by 9?
9.16. =R Rl T T AT .o & |/ Which is the largest four four digit
number?
9.17. 37 H 5 @ WNT Gl TWANTRS ...cccvvvveennnns = IO 2SS 9TE &R |/ What is

the quotient and remainder when 37 is divided by 5?
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18, 18 +6 =2+ oo
9.19. 9N &R S: 4 Jesg &l 3@ t: S @@ | / Write in number.
9.20. TR EAR Al H S i1 k= S f&@91 | / Write in number.
Tl - SIS §91K / Match the column - 5x1=05
921. 53R 1 9%l 6 59N 1 T&R/
5 Ones 1 Hundred 6 Thousand 1 Tens (a) 3425
.22, 4 &l 3 TSR 3 THE 0 g8/
4 Ones 3 Hundred 3 Thousand 0 Tens (b)" 13403
9.23. 4 el 3 &SR 2 38R 5 TS/
4 Ones 3 Hundred 2 Thousand 5 Tens (c) 6314
9.24. 3 EFEI4 TFR 1 TR 6 TR/
3 Ones 4 Hundred 1 Thousand 6 Tens (d) 4739
9.25. 489N 3 38R 9 THE 7 Ghel/
4 Ones 3 Hundred 9 Thousand 7 Tens (e) 6115
A 1 3EA forfe - 5x1=05
4.26. R g % HEE TS e 9000 B
Biggest four digit number is 9000
¥.27. A1 3456 4 F EME A 400 B
Place value of 4 in 3456 is 400
9.28. A1 5189 H Gl H o1 8 &
8 is the hundredth mark in 5189
9.29. Rl EEa H 0 § N7 &4 W T+ U 2T 2|

Zero comes when any number is divided by Zero.
9.30. 90 H & 10 & UM F W IPERS 900 TTed &1 2|

The outcome is 900 when 90 is multiplied with ten.
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I Y I 9 - 10x2=20

9.31. UF IUW H § 3T % F&1 8| T &1 W 50 W &1 8| T&f TS bl STHwRS 21 /
There are eight mango trees in a garden. Every tree has fifty fruits in it. Find

the total number of fruits.

.............................................................................................................................

9.32. U 9ediE H 7@?%@ 21 Gedtg ¥ fehd« & &%) / There are seven daysina
week. How many days will be in twenty one weeks?

.............................................................................................................................

haX NN

.34, Il T UGS FT Ged &. 8 B dl €. 40 H fhaeit U 39 %I S Ghcl 21/ What's the
cost of forty pencils if onecosts Rs. 8?

9.35. U 18T 40 JEaR! i 8 BT H GH &Y G i1 =i & |l Jcdeh I Hl fha«t
‘11-?!% oTed ENT | / A teacher wants to divide 40 books among 9 students.

How many books will each one get?

&g ST 99/ Short answer type questions - 5x4=20
9.36. TSaT H1 G X &. 320 il FroEmd & i 20 fhomm frsa i .1 ged &nm 2/

What's the cost of twenty kilograms of sweets if the rate is Rs. 300 per kg.?
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9.37. a0 % 9 100 FHSE &, 98 GH &9 d 319 10 Qe # afa-r =Sedi 82 S+ arel &l
fhaell TThoe SR / Ravi has 80 chocolates. He wants to distributes them

among his ten friends. How many will each get?

.............................................................................................................................
.............................................................................................................................
-----------------------------------------------------------------------------------------------------------------------------

9.38. a%srﬁaqﬁﬁqgﬁszﬁﬁamﬁam%mn aﬁ%ﬁm@ﬁqﬁ@?/ Suresh
stayed in a guest house for eighty.two days. For how many weeks and days
did he stay there?

.............................................................................................................................
.............................................................................................................................
-----------------------------------------------------------------------------------------------------------------------------

.............................................................................................................................

13 18 24 32
7 7 - ’ - ’ 7

.............................................................................................................................

.............................................................................................................................
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9.40. FEfcsRad el # TavE] | FHaRad HIWY / Write in descending order.

B 23 12 14
g 8 "8
&e ST U / Long answer type questions - 1x10=10
Y41, AR / Find the value-
14 13
(%) = =
41 13
() T =
31 13 31 13
@ F+ 5+ 33
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